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1. Note: you may use the table of Laplace transforms which is attached at
the end of the test.

a) Find the Laplace transform of f (t) =tcosh(t).

chb(/\ _t(e_g)— Lpef oy g I te™

N 1
} ,—'L(sm 4’%("‘3

= L {’ L T T — 2
e 2 (51 (S-N*(5H1)
l@lJr'zSH\ +{({525”\ st+
T 1 o —,
[(s—N s ]T rerd (s
b) Find the inverse Laplace transform of F(s)= 2 +S£3Jsr+17 :
25+ s *i 25+ 9
Pigs 417 SHUlLE] (s+9) + 1
(r\)@!@\ s+ \ s+ 4 L3 |
WS + 5 - + 1 2,0
¢ (s+4) +1 ($+)* ($+)7+1

250 = Mwﬂ% = frs rUheE

¢ - /qz/T 16 e b re ity
Ca»v»éf" Cl‘-:\-éAﬂ"B B / |




Name:

2. Solve the initial value problem
y"+6y+8y=4(t), y(0)=0, y'(0)=0.

SW\Q&J g({—\ o constant Coegpfcjw\h’ -l\M'bEJ \rm\\re, P\(é\,o\umj
S Lp«v)\ém rkx!b./v\(co(w\,g. T Z%D;

— ) _ 1
Y= st G led) T ASH it

| - A (sr2) + BGrd)
=) | =2k A=A
(S;az) (= 28 8° /2

EEAENOR

(,\\www}n N N

SHHR ~ G611~ )=

[ = € T ]




Name:

\f&majb\b CB@-piQoaM fO Lese

3. Solve the initial value problem, e
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4. Find the general solution for the Euler equation
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5. Match the systems on the left with the graphs

on the right.
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6. Solve the initial value problem (your solution will involve an integral)
y'+4y=1(), y(0)=0, y’'(0)=0
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7. Find the *“a priori” lower bound for the radius of convergence of the
series solution about x, = 0 to the equation

(X* +2x+10)(x* +6x+8)y "+ 2xy'—4y =0.
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dx B
e Xx+3y, x(0)=a

8. Suppose x and y satisfy the system . Find values of

Y _x_ _
a7y y(0)=b

a and b so that X, the Laplace transform of x, has only one pole. Show
that Y, the Laplace transform of y, will also only have one pole for the
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